HHB(2021)4EFE JKEHEET 8K $KARKF) DKEOKERKEREE)

[BExEH4A] [(BXEH4A] [BxEH4]
28 - 501 EER 28 - 501 EEE 28 - 502 EER
MRk B EE B #e 7K 8 1> 3 [ I BT
[#Ki;H4&] 02 - 00 [&/KkZm4&] 03 - 00 [%Ki;H4&] 01 - 00
BRNEKE B 15 % K5 L EEINEKIG
BEIEH [KiR&] [KiE&] [kiFE&]
Al ]l ##HH - EIERKIER
[FkDFE$E] [FRKDFELE] Rk DFEEE]
FRAK(BR) xRk ER) EHFEK
[1AFHHRKE] 530,260 (M) |[1B % KE] 214,093 (m) 1 BFEg%KE] 4,412 (m)
HIKGRKEKE) HIKERKEKE) FIKERKEKE)
) =IE T E1% bl =xIE Ty B3 ) =IE T Ik

TOFEVRUZDILED <0.0020  <0.0020  <0.0020 4 <0.0020  <0.0020  <0.0020 4

ISVRUEDIEEY <0.0002  <0.0002  <0.0002 4 <0.0002  <0.0002  <0.0002 4

VT RUZDIEED <0.002 <0.002 <0.002 4 <0.002 <0.002 <0.002 4

1,2—YhOnIsYy <0.0004  <0.0004  <0.0004 4 <0.0004 <0.0004  <0.0004 4

LTy <0.040 <0.040 <0.040 4 <0040  <0.040 <0.040 4

TRIVEES 2—TIFIAFII) <0.008 <0.008 <0.008 4 <0.008 <0.008 <0.008 4

HIERE <0.06 <0.06 <0.06 12 <0.06 <0.06 <0.06 12

ZEEiER

ybonre b= <0.001 <0.001 <0.001 4 <0.001 <0.001 <0.001 4

fkoo3-Ib <0.002 <0.002 <0.002 4 0.002 <0.002 <0.002 4

REE 0.00 0.00 0.00 4 0.00 0.00 0.00 4

HREBIER 1.1 09 1.0 52 1.1 0.9 1.0 52 [ 1.0 0.7 0.8 12

SR 1.1 1.0 1.1 4 1.1 0.8 1.0 4

1,1,1—kHoonIay <0.030 <0.030 <0.030 4 <0030  <0.030 <0.030 4

HAFI—t—FFII—TIL(MTBE) <0.002 <0.002 <0.002 4 <0.002 <0.002 <0.002 4

AMEGBIVH VBN LEEE) 1.1 0.9 1.1 4 0.9 08 0.9 4

R SR5&E (TON) 1 1 1 12 1 1 1 12

BRI GYTUTES) -1.2 -15 -1.3 4 -1.1 -15 -13 4

HEREEMR 0 0 0 4 0 0 0 4

1.1—=YHOAIFLY <00100  <0.0100  <0.0100 4 <0.0100 <0.0100  <0.0100 4

RIWTNAOADY AN B(PFOS)RURI INATA DS A VB (PFOA) 0.000008  <0.000005 0.000006 4 0.000007  <0.000005 0.000005 4

JKiE (°C) 295 71 18.0 52 296 6.9 18.0 52 |* 220 12.0 16.8 12

PUEITREER

EMILFRIBRERE(BOD)

LB RERE(COD)

LSMRUVIR I E (50mmtz )L FREE)

FEYE(SS)

BRI R

L2EXR

DV

VVEEATY

FINOAR YA R BE

HEH) (n/ml) * 50 0.0 1.0 12 [ 28.0 0.0 30 12

FIAVE 37.0 35.0 36.0 4 37.0 340 35.0 4

BEBRE

ERAAY

BT

-k(F . HEKIEEOKDT—RTT,



HHB(2021)4EFE JKEHEET 8K $KARKF) DKEOKERKEREE)

[BExEH4A] [(BXEH4A] [BxEH4]

28 - 506 EEE 28 - 506 EEE 28 - 506 EER

EER EER EER

[#Ki;H4&] 01 - 00 [§Kiz&] 02 - 00 [%Ki;H4] 03 - 00

iR SRS ZH%KE =HEKE

BEIEH [KiR&] [KiE&] [kiFE&]

FIKRTN(ENNA L) ENIKRIER N (—ESL) RENIKREEI(FEHAL)

[FR/kDFEE] [FRkDiELE] [FR/kNDFELE]

EIN it S LR EIN i

[1BFEHKE] 71,831 (m) |[1BFH%KE] 68,052 (m) |[1HFH%KE] 63,160 (m)

HIKGRKEKE) HIKERKEKE) FIKERKEKE)

) =IE T E1% bl =xIE Ty B3 ) =IE T Bl

PUFEVRUEZDILE x  <00020 <0.0020  <0.0020 4 |* <00020 <0.0020  <0.0020 4 [x <00020 <0.0020  <0.0020 4
ISVRUEDIEEY % <0.0002 <0.0002  <0.0002 4 |* <00002 <0.0002  <0.0002 4 [x <00002 <0.0002  <0.0002 4
29TV RUZDIEEH * <0002  <0.002 <0.002 4 % <0002  <0.002 <0.002 4 |x <0002 <0.002 <0.002 4
1,2—9HOAIaY * <0.0004 <0.0004  <0.0004 4 |* <0.0004 <0.0004  <0.0004 4 [x <00004  <0.0004  <0.0004 4
LTV * <0040  <0.040 <0.040 4 |% <0040  <0.040 <0.040 4 [x <0040 <0.040 <0.040 4
TRIVEEY 2—IFIAFII) * <0008  <0.008 <0.008 4 |* <0008  <0.008 <0.008 4 [x  <0.008 <0.008 <0.008 4
HIERE <0.06 <0.06 <0.06 4 <0.06 <0.06 <0.06 4 <0.06 <0.06 <0.06 4
ZEMEER
ybonre b= 0.001 <0.001 <0.001 4 |x 0.001 <0.001 <0.001 4 0.002 0.001 0.001 4
#Kkoa5-Il 0004  <0.002 0.003 4 |x 0002  <0.002 <0.002 4 0.006 <0.002 0.003 4
e * <1.00 <1.00 <1.00 4 |* <1.00 <1.00 <1.00 4 % <1.00 <1.00 <1.00 4
HREBIER 0.7 05 0.6 12 | 1.3 0.9 1.1 12 08 0.7 0.8 12
SR <20 <20 <20 4 |* 2.7 24 26 4 35 2.7 3.0 4
1,1,1—tyhonI4ay * <0030  <0.030 <0.030 4 |* <0030  <0.030 <0.030 4 [x <0030 <0.030 <0.030 4
AFI—t—=FFII—FI (MTBE) x <0002  <0.002 <0.002 4 |x <0002  <0.002 <0.002 4 [x <0002 <0.002 <0.002 4
AMEBRIVIVENIILEES)
R SR5&E (TON)
BRI GYTUTES) -16 -20 -18 4 |x -13 -15 -14 4 -1.6 -2.0 -19 4
HEREEMR * 0 0 0 12 |* 0 0 0 12 |* 0 0 0 12
1,1—9HOAIFLY * <00100 <0.0100  <0.0100 4 |* <00100 <0.0100  <0.0100 4 |* <00100 <00100  <0.0100 4
RVINATADEY 2RV EE(PFOS)RUAILINAOADEY ALK E(PFOA) *  <0.000005 <0.000005 <0.000005 4 *  <0.000005 <0.000005 <0.000005 4
KR (°C) 256 95 17.7 12 [ 268 52 16.2 12 273 70 174 12
FUEITRERER
EMILFRIBRERE(BOD)
LB RERE(COD)
SRV B (50mm )L {3 FR B )
FHEMESS)
BRI R
LER
DY)
VVEEATY
FINOAR YA R BE
£ (n/ml)
FIHUE 280 15.0 21.0 12 [ 39.0 250 320 12 30.0 21.0 26.0 12
BEEER
ERAAY
BT/

-k(F . HEKIEEOKDT—RTT,



HHB(2021)4EFE JKEHEET 8K $KARKF) DKEOKERKEREE)

[BExEH4A] [(BXEH4A] [BxEH4]
28 - 506 EEE 28 - 506 EEE -
EER EER
[#Ki;H4&] 04 - 00 [#7kim4] 05 - 00 [%Ki54] -
i %K S hFEESKS
BEIEH [KiR&] [KiE&] [kiFE&]

MENKREEN(FH-SL) MENIKRER) (FHA L)
[FkDFE$E] [FRKDFELE] Rk DFEEE]
SLEE RRAK(BR) -ZHFK
[1BFEHKE] 65,000 (m) |[18FHi%KE] 67,227 (m) |[1BFEH%KE] ()
HIKGRKEKE) HIKERKEKE) FIKERKEKE)
) =IE T E1% bl =xIE Ty B3 ) =IE T Ik

PUFEVRUEZDILE * <0.0020 <0.0020  <0.0020 4 <0.0020  <0.0020  <0.0020 4

ISVRUEDIEEY * <0.0002 <0.0002  <0.0002 4 <0.0002  <0.0002  <0.0002 4

29TV RUZDIEEH *  <0.002 <0.002 <0.002 4 <0.002 <0.002 <0.002 4

1,2—YhOnIsYy * <0.0004 <0.0004  <0.0004 4 <0.0004 <0.0004  <0.0004 4

LTy *  <0.040 <0.040 <0.040 4 <0040  <0.040 <0.040 4

TRVEEY 2—IFIAFIIL) *  <0.008 <0.008 <0.008 4

HIERE <0.06 <0.06 <0.06 4 <0.06 <0.06 <0.06 4

ZEEiER

ybonre b= 0.002 <0.001 0.001 4 0.002 0.002 0.002 2

fkoo3-Ib 0.005 <0.002 0.002 4 0.006 0.004 0.005 2

REE * <1.00 <1.00 <1.00 4 | <0.01 1

HREBIER 0.7 06 0.6 12 05 0.3 0.4 12

SR 3.0 2.1 2.7 4 15.0 48 10.0 4

1,1,1—kHoonIay *  <0.030 <0.030 <0.030 4 <0030  <0.030 <0.030 12

HAFI—t—FFII—TIL(MTBE) *  <0.002 <0.002 <0.002 4 <0.002 <0.002 <0.002 4

HHMEGRBI VA VBN LEER)

R SR5&E (TON)

BRI GYTUTES) -16 -19 -1.8 4 -1.1 -12 -1.1 4

HEREEMR 0 0 0 11 6 <1 2 4

1,1—9HOAIFLY * <00100 <0.0100  <0.0100 4 <0.0100 <0.0100  <0.0100 4

RVINATADEY 2RV EE(PFOS)RUAILINAOADEY ALK E(PFOA) *  <0.000005 <0.000005 <0.000005 4 |* <0.000005 1

KR (°C) * 25.1 79 17.0 12 26.7 9.1 19.4 12

PUEITREER

EMILFRIBRERE(BOD)

LB RERE(COD)

LSMRUVIR I E (50mmtz )L FREE)

FEYE(SS)

(gt it dodind 14.0 43 9.1 4

L2EX

DV

VVEEATY

FINOAR YA R BE

£ (n/ml)

FIHUE * 133.0 21.0 440 12 44.1 36.4 39.0 4

BEBRE

ERAAY

BT

-k(F . HEKIEEOKDT—RTT,



